W, IR O word
N National Testing Agency
 Excouonco in Assassment]

Test Date : 06 mar 2023 Test Slot : siot 2

'Subject : 2-Political Science

Paper I : 201-General Paper

Sl. No.1
QBID:18201001

Based on the table answer the questions that follow

The following table shows the distribution of women staff across Professional and Managerial grades in a ‘Five Star
Corporation.

Distribution of Women Staff

Professional Grades Managerial Grades

Legal|Technical|HR|Financial Other{Team Manager|Executive|Head of Department

30 |15 15120 10 |25 1 4

MNote : (a) There are five times as many men in Professional Grades as women.
(b) The Corporation employs a total of 1300 staff in both Professional and Managerial Grades
(c) 8% of the total workforce at the Corporation is employed in Professional and Managerial Grades.

Based on the above, answer the question that follows
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In total, how many staff members (both men and women) are employed in Professional Grades in the Corporation?

1. 540
2,450
3. 360
4. 270

(1) 1
() 2
3) 3
(4) 4

Dl (o HHAR] Wa (T8 3R HiGe Gl HURTH & oaaanas I H Faifed &7

1. 540
2.450
3. 360
4. 270

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38101] Question Description : dwbv_pg_gp18_eng_2_q1l
2[Option ID=38102]

3[Option ID=38103]
4[Option ID=38104]
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Based on the table answer the questions that follow

The following table shows the distribution of women staff across Professional and Managerial grades in a ‘Five Star’
Corporation.

Distribution of Women Staff

Professional Grades Managerial Grades

Legal(Technical|HR|Financial| Other|Team Manager|Executive|Head of Department

30 |15 15120 10 |25 1 4

Note : (a) There are five times as many men in Professional Grades as women.
(b) The Corporation employs a total of 1300 staff in both Professional and Managerial Grades
(c) 8% of the total workforce at the Corporation is employed in Professional and Managerial Grades.

Based on the above, answer the question that follows

Frrafufea arfte & snuR W 3T g ust &1 3w difvrg
FafaRad aIte U@ 'BRd ©R SURIH & 9 e U8 Udud IS arcl Hiedl @HAR - [3aul ®f UaiRid &l gl
Higdl HHIR] -fdavur

EUAD IS PERCAREDES

At (Ao TR a3 H UaUd @ a R [GHTTEE

30 15 )15 [0 [10 |25 1 4
fewoft : (a) TGS U & siavld &y, Afgansi @I go1 o i T 8

(b) TATEHIR® AR FEUDHE THI 98 H Fgad SUNIH & $d HHAN 1300 8
(c) PIUNTH H $d HH-ad BT 8% Bad AaUids AR UeUHig Is H Haifad g1

How many of the total staff in Professional and Managerial Grades are men?

1.1210
2. 1180
3. 1160
4.1140

1) 1
(2) 2
3) 3
(4) 4




AP R FEUD IS & Dol [dba- PHIRI JFY g7

1210
1180
1160
1140

N

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=38105]
2[Option ID=38106]

3[Option ID=38107]
4[Option ID=38108]

Question Description : dwbv_pg_gp18_eng_2_q2
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Based on the table answer the questions that follow

The following table shows the distribution of women staff across Professional and Managerial grades in a ‘Five Star’
Corporation.

Distribution of Women Staff

Professional Grades Managerial Grades

Legal(Technical|HR|Financial| Other|Team Manager|Executive|Head of Department

30 |15 15120 10 |25 1 4

Note : (a) There are five times as many men in Professional Grades as women.
(b) The Corporation employs a total of 1300 staff in both Professional and Managerial Grades
(c) 8% of the total workforce at the Corporation is employed in Professional and Managerial Grades.

Based on the above, answer the question that follows

Frrafufea arfte & snuR W 3T g ust &1 3w difvrg
FafaRad aIte U@ 'BRd ©R SURIH & 9 e U8 Udud IS arcl Hiedl @HAR - [3aul ®f UaiRid &l gl
Higdl HHIR] -fdavur

EUAD IS PERCAREDES

At (Ao TR a3 H UaUd @ a R [GHTTEE

30 15 )15 [0 [10 |25 1 4
fewoft : (a) TGS U & siavld &y, Afgansi @I go1 o i T 8

(b) TATEHIR® AR FEUDHE THI 98 H Fgad SUNIH & $d HHAN 1300 8
(c) PIUNTH H $d HH-ad BT 8% Bad AaUids AR UeUHig Is H Haifad g1

How many men are in Managerial Grades?

1. 640
2. 680
3.730
4. 660

(1) 1
) 2
(3) 3
(4) 4




TeUSd 33 H od [ha- & o7

1. 640
2. 680
. 730
4. 660

[E8]

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38109] Question Description : dwbv_pg_gp18_eng_2_q3
2[Option ID=38110]

3[Option ID=38111]
4[Option ID=38112]
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Based on the table answer the questions that follow

The following table shows the distribution of women staff across Professional and Managerial grades in a ‘Five Star’
Corporation.

Distribution of Women Staff

Professional Grades Managerial Grades

Legal(Technical|HR|Financial| Other|Team Manager|Executive|Head of Department

30 |15 15120 10 |25 1 4

Note : (a) There are five times as many men in Professional Grades as women.
(b) The Corporation employs a total of 1300 staff in both Professional and Managerial Grades
(c) 8% of the total workforce at the Corporation is employed in Professional and Managerial Grades.

Based on the above, answer the question that follows

Frrafufea arfte & snuR W 3T g ust &1 3w difvrg
FafaRad aIte U@ 'BRd ©R SURIH & 9 e U8 Udud IS arcl Hiedl @HAR - [3aul ®f UaiRid &l gl
Higdl HHIR] -fdavur

EUAD IS PERCAREDES

At (Ao TR a3 H UaUd @ a R [GHTTEE

30 15 )15 [0 [10 |25 1 4
fewoft : (a) TGS U & siavld &y, Afgansi @I go1 o i T 8

(b) TATEHIR® AR FEUDHE THI 98 H Fgad SUNIH & $d HHAN 1300 8
(c) PIUNTH H $d HH-ad BT 8% Bad AaUids AR UeUHig Is H Haifad g1

How many people does the Corporation employ?

1. 16250
2. 14950
3. 13650
4. 12650

1) 1
(2) 2
3) 3
(4) 4




BIUNIH ¥ Hdl [dba- HHARI 87

16250
14950
13650
12650

b P —

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=38113]
2[Option ID=38114]

3[Option ID=38115]
4[Option ID=38116]

Question Description : dwbv_pg_gp18_eng_2_q4
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Based on the table answer the questions that follow

The following table shows the distribution of women staff across Professional and Managerial grades in a ‘Five Star’
Corporation.

Distribution of Women Staff

Professional Grades Managerial Grades

Legal(Technical|HR|Financial| Other|Team Manager|Executive|Head of Department

30 |15 15120 10 |25 1 4

Note : (a) There are five times as many men in Professional Grades as women.
(b) The Corporation employs a total of 1300 staff in both Professional and Managerial Grades
(c) 8% of the total workforce at the Corporation is employed in Professional and Managerial Grades.

Based on the above, answer the question that follows

Frrafufea arfte & snuR W 3T g ust &1 3w difvrg
FafaRad aIte U@ 'BRd ©R SURIH & 9 e U8 Udud IS arcl Hiedl @HAR - [3aul ®f UaiRid &l gl
Higdl HHIR] -fdavur

EUAD IS PERCAREDES

At (Ao TR a3 H UaUd @ a R [GHTTEE

30 15 )15 [0 [10 |25 1 4
fewoft : (a) TGS U & siavld &y, Afgansi @I go1 o i T 8

(b) TATEHIR® AR FEUDHE THI 98 H Fgad SUNIH & $d HHAN 1300 8
(c) PIUNTH H $d HH-ad BT 8% Bad AaUids AR UeUHig Is H Haifad g1

What percentage of women in Professional Grades is in Legal and HR combined?

1.50 %
2.45%
3.33 %
4.30 %

(1) 1
) 2
(3) 3
(4) 4




A U B fdbd-l gfc=rd afgard faf¥ie ud tger &7 H Uged ¥ 3 Fgifed g2

1.50 %
2.45 %
3.33%
4,30 %

1)
(2)
(3)
(4)

A W N =

1[Option ID=38117] Question Description : dwbv_pg_gp18_eng_2_q5
2[Option ID=38118]
3[Option ID=38119]
4[Option ID=38120]

Sl. No.6
QBID:18201006

Which of the following processes are for observational learning proposed by Bandura?

A. Attention

B. Adaptation

C. Retention (Memory)
D. Behavioral rehearsal
E. Motivation

Choose the correct answer from the options given below:

1. A Cand D only
2.B, Cand E only
3.A Band D only
4.4, C DandEonly

(1)
2)
3)
(@)
3 gRI Wl Y& 4 @ o Fefeied & 9 oF 9 uisan €7

A &I ST

A W N R

B. dHeH

C. WideRom (i)

D. TGeITd Jarary

E. SR

i<l feu 1u fadedl & 0 981 SR g -
1.Had A, C 3R D
2.9 B, C ARE

3.®ad A, B3R D
4. BAAA C D ARE




(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38121] Question Description : dwbv_pg_gp18_eng_2_q6
2[Option ID=38122]

3[Option ID=38123]
4[Option ID=38124]

Sl. No.7
QBID:18201007

Given below are two statements:

Statement I: In adolescence period, foreclosure refers to commitment with going through the period of crises.
Statement II: In adolescence period, moratorium is the period without going through the period of crisis.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

1) 1
() 2
(3) 3
(4) 4

EIECRIEN A

DY - | : [PURGRT Bt Y H Jigq Y (BRaoR) Ydedid H G - & Wid Uidagdl & Haiid el
T - || - [PRRIGR &1 Al | RAF-®Ie @IReIRTH) 9dbe o | &4 =1 31 R @i g1

Il HYA B 1SS H Fieiad [ecedl # 9 98l Sw 9 -

1. @Y | SR 11 GF Tel 8l
2. @Y | R 11 Gl TTad 8
3.5Y 1 9l 3, g HYH 1 Ted & |
4. B | A E, THd o 1 TE B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38125] Question Description : dwbv_pg_gp18_eng_2_q7
2[Option ID=38126]

3[Option ID=38127]
4[Option ID=38128]

Sl. No.8
QBID:18201008

-------- is the process of observation, scaffolding and increasingly independent practice through which a learner can
advance towards expertise.

1. Cognitive Apprenticeship
2. Adaptation

3. Medification

4. Concept Mapping




1) 1
(2) 2
(3) 3
(4) 4

T&0T, UTS (HH) T iR SMUTe ©0 8 Waa 1a/™ 3 Ul &, o areay 3 ue fRendf fagiugar &1 sik
TR Bl adl o

1. HFHTHD g

2. ¥ @A

3. 3RIEA (HifsfhdEm)

4. HFYRU AERE (@19 A5

1)
(2)
(3)
(4)

A W N R

1[Option ID=38129] Question Description : dwbv_pg_gp18_eng_2_q8
2[Option ID=38130]
3[Option ID=38131]
4[Option ID=38132]

Sl. No.9
QBID:18201009

Arrange the five Phases of "Constructivist Learning Approach” in a Sequence.
A. Explore

B. Elaborate

C. Evaluate

D. Explain

E. Engage

Choose the correct answer from the options given below:

1.A B EDC
2.D, A BEC
3.C,DAEB
4. E A D B C

1)
(2)
(3)
(4)

A W N R




TH HH H Taare! SHfE JurTH & Ui TR &I cHafd @i

A. S0 ] (THEIR)

B. TfawIR wfauifed &A1 Zaaie)
C. H@weH B (ZaqUe)

D. TP HAT (TFTH)

E. BTH | T 1§ BT (3719)
i< TeU 71Q fadhedl # U el IR 44 -

1A B EDC
2.D, A BEC
3.C,DAEB
4. E A D B C

1)
(2)
(3)
(4)

A W N R

1[Option ID=38133] Question Description : dwbv_pg_gp18_eng_2_q9
2[Option ID=38134]
3[Option ID=38135]
4[Option ID=38136]

Sl. No.10
QBID:18201010

SWAYAM is a programme initiated by Government of India and designed to achieve the cardinal principles of
education policy.

1. Five
2. Four
3. Three
4. Six

1)
(2)
(3)
(4)

A W N =

T U U SAHH g, S YRT TWHR gR1 URH e 1 ik Sl e $ife & TR FISIdl &1 9T & & g
3fifepicd fdbar |

1.94
2.dR
3.0
4.98

1)
(2)
(3)
(4)

A W N R

1[Option ID=38137] Question Description : dwbv_pg_gp18_eng_2_q10
2[Option ID=38138]
3[Option ID=38139]
4[Option ID=38140]




Sl. No.11
QBID:18201011

A researcher wants the research question to be

1. Secretive
2. Implicit

3. Explicit

4. Ambiguous

1) 1
(2) 2
3) 3
(4) 4

e | s R 3 R0 (R TG ARd 57

1.7

2. Haied
3. goTad
4. Ay

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38141] Question Description : dwbv_pg_gp18_eng_2_ql1
2[Option ID=38142]

3[Option ID=38143]
4[Option ID=38144]

Sl. No.12
QBID:18201012

Symbolic interactionism is a

1. Theory

2. Hypothesis

3. Research question
4. Review

1) 1
(2) 2
(3) 3
4) 4

JdidTHD HaiHaEaE & Ue

1. fogia
2. U@ a1
3. YUY
4. GHIET

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=38145] Question Description : dwbv_pg_gp18_eng_2_q12
2[Option ID=38146]




3[Option ID=38147]
4[Option ID=38148]

Sl. No.13
QBID:18201013

The process of deduction in research has the following steps. Which are they?
A. Photo-copying the research material

B. Theory

C. Hypothesis and data collection

D. Data analysis, findings, confirmation or rejection of hypothesis

E.Preparing the index

Choose the correct answer from the options given below:

1. A B and C only
2.B, Cand D only
3.C, Dand E only
4.B, D and Eonly

1)
(2)
(3)
(4)

A W N R

Y H T &1 Wil § REiaiEd RUBH E 1 IPH-DH U E?
A. Ty 9 Feld Sl B BISieldl H

8. fasid

C. MFH AT 3R 3fH sl GHa

D. Hids! faeigy, Ay, Yrddbed- &1 gy I1 sdidia

£ SHAME] TR &l

= fu 70 fgdenl § @ 9dl IR g4 -
1. BT A, B AR C
2. ®da B, C3ARD

3.®WadC, D ARE
4. HadB, D AR E

1)
(2)
(3)
(4)

A W N R

1[Option ID=38149] Question Description : dwbv_pg_gp18_eng_2_q13
2[Option ID=38150]
3[Option ID=38151]
4[Option ID=38152]

Sl. No.14
QBID:18201014




Given below are two statements:
Statement |: Middle range theories are the focus of empirical enquiry.
Statement II: Unlike grand theories, middle range theories function in a restricted domain.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1)
(2)
(3)
(4)

A W N R

A P RYTUE:
TUF - | - T Y fSia, srgyarya g med ¢d 8
@Y - 1 B fsial & udia nw W figia Oiftd 8 4 ol &d B
Iudad Bl B 3o | Faftiad el J 9 58l W g -
1. ®YF | 3R 11 EHT 981 8
2. HYF | 3R Il THI T g

3.9 19 e, g @y 17dad g |
4. @Y HEA §, fog duH 11 el 21

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=38153] Question Description : dwbv_pg_gp18_eng_2_q14
2[Option ID=38154]
3[Option ID=38155]
4[Option ID=38156]

Sl. No.15
QBID:18201015

Given below are two statements:

Statement I: In the systematic sampling, one can choose units directly from the sampling frame, without opting for a table
of random numbers.

Statement II: The Simple random sample is the most primary form of non-probability sample.
In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

1)
(2)
(3)
(4)

A W N R




DU - | : GHarYd Widaad d @iz Aidd grefwse S@s & 9Rofl @ fau fded @ (941 uidaad old 5 ¥ sorsal &1 994
T IR IR TR IHdT 3

FY - 1| : IR el Uideg], HHUeEdl Uiaes &1 3fdd Tufe =9 gl
Iudad dyHl @ aie | FafaRad fGeddl § 9 98 3o g -

1. BT 1 AR 1 SHT I '

2. YA | AR 11 GFT AT B

3. @Y 1 qd e, g @y 1 TTad & |
4. | 3T T, g o 1 T B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38157] Question Description : dwbv_pg_gp18_eng_2_q15
2[Option ID=38158]

3[Option ID=38159]
4[Option ID=38160]

Sl. No.16
QBID:18201016

To gain a good vocabulary for effective communication, learners should depend upon

1. Teachers

2. Backbenchers

3. Their own initiatives
4. Qutside tutors

(1) 1
(2) 2
(3) 3
(4) 4

THIAT HUYU] §q U 38l Rlealaci &l U - og, A HSd| ®f [y W A3 giH1 Anfge?

1. Rl WX

2. UTe &1 &9 R 954 gl (@dedy) W
3. 39! WY B Ugd W

4. STg3 S-Fa W

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38161] Question Description : dwbv_pg_gp18_eng_2_q16
2[Option ID=38162]

3[Option ID=38163]
4[Option ID=38164]

Sl. No.17
QBID:18201017




------ are made at the level of connotation, in communication

1. Complexities

2. False perceptions
3. Value judgements
4. Deceitful creation

1) 1
(2) 2
3) 3
(4) 4

OO H_ ggaary & X W [ S/ B ol 87

1. SifeeTand

2. gd HgaeT
3. 7o FHuige
4. ®9eqYf TgH1Y

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38165] Question Description : dwbv_pg_gp18_eng_2_q17
2[Option ID=38166]

3[Option ID=38167]
4[Option ID=38168]

Sl. No.18
QBID:18201018

Which of the following are the characteristics of virtual interaction?
A. Time-zone constraints are abundant within a small country.

B. Itis aspatial.

C. It is spatial.

D. Mutual presence is redundant.

E. Virtual interaction through some system is asynchronous.
Choose the correct answer from the options given below:

1. A B and C only
2.B,Cand D only
3.C, Dand E only
4.B, D and E only

(1) 1
(2) 2
(3) 3
(4) 4




3 (ST Ware @1 Fafaiad 7 9 @ 9 fatudng 82
A T® BI¢ o¥ I TG-S cay (CEH-9IM) Uideydnd i@ gl &1
B. U8 &S Bl 5
C. 9% ®IH® gidl g
D. URER® IUfeUfd 3HTa%a il ¢
. fop it qumrelt & mremm ¥ o daTe Sredia® sidl 8|
=< feu 7Tu fadedl § 9 U8l SR 9 -
1. @A A, B 3R C
2.%q0 B, C 3R D

3.%aAC, DIAHRE
4.%HadB, D ARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38169] Question Description : dwbv_pg_gp18_eng_2_q18
2[Option ID=38170]

3[Option ID=38171]
4[Option ID=38172]

Sl. No.19
QBID:18201019

Given below are two statements:

Statement I: John Fiske does not support the way in which the term 'myth’ is used by Roland Barthes
Statement II: Barthes links ‘myth’ with a capitalist social order which is a statement of falsehood.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1) 1

() 2

(3) 3

(4) 4

FYF - | : oI e YD et U TOR I JOF H- &1 G T8 $d & ol A0S 91409 Hd |
DY - || : S1UY By ol Uoiiarg] GHTid odaw U |isd g ol U [HROIid &Y ¢l

Iudad dyEl & aie | FgfaRad fGeddl F 9 98 3o g -

1. ®Y | 3R 11 §FT 9ET E
2. @Y | R 11 BF Tad 8
3. 95U 1 TA R, g dY 1 TTad B |
4.0 3T T, g EwE 1 T B




(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38173] Question Description : dwbv_pg_gp18_eng_2_q19
2[Option ID=38174]

3[Option ID=38175]
4[Option ID=38176]

Sl. No.20
QBID:18201020

In communication, paradigms are the basis of

1. Numbers

2. Syntagms

3. Syntax

4. Punctuations

1) 1
) 2
(3) 3
(4) 4

oo o, ufaey fAgifad fdad snuyR gid &2

1. HE=A

2. fa=arast

3. gy

4. faumfrg faum

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38177] Question Description : dwbv_pg_gp18_eng_2_q20
2[Option ID=38178]

3[Option ID=38179]
4[Option ID=38180]

Sl. No.21
QBID:18201021

A person pays 10% tax on his income upto 4.0 lakhs. For the amount between 4.0 lakhs to 8.0 lakhs he pays a tax of 20%
and for the amount above 8.0 lakhs, he pays 30% tax. If the total tax paid by the person is 1.8 lakhs, then find his average
percentage of tax paid on the whole income.

1.15 %
2.18 %
3.20 %
4. 25 %

(1)1
(2) 2
(3) 3
(4) 4




D3 Al HGHT 4.0 TRE 9P B HG G 10% DR B YFTAH ST ¢l 4.0 ARG Y 8.0 TG b 7 B =R W 20% B T4 8.0
TRE T IW b 4RI TR 30% B B YTdH Bl ¢l 3ie 39 i gRI a1 7181 $d & YIaH 1.8 TR 6, dd 39| 9y
HG UR faT 71U @ YT DI 319d UTd=d 91d DIt

1.15 %
2.18 %
3.20 %
4.25 %

1)
(2)
(3)
(4)

A W N R

1[Option ID=38181] Question Description : dwbv_pg_gp18_eng_2_q21
2[Option ID=38182]
3[Option ID=38183]
4[Option ID=38184]

Sl. No.22
QBID:18201022

A person invested 3.5000 in each of the years 2005, 2010, 2015 and 2020. The investment of the person doubles every five
years. What will be the total amount, the person will receive in 20257

1.1,35,000
2.1,30,000
3.1,50,000
4.1,20,000

(1)
(2)
(3)
(4)

Tl aafad = 2005, 2010, 2015 3R 2020 & YA®-au H 5000 UL &I 9= 41| U Gid a6l & 34 aAfcd & Ha=l GRAT &l
A1 81 39 fad & ER1 a9 2025 § U &1 94 arell fa oI fat gl

A W N R

1.1,35,000
2.1,30,000
3. 1,50,000
4.1,20,000

1)
(2)
(3)
(4)

A W N R

1[Option ID=38185] Question Description : dwbv_pg_gp18_eng_2_q22
2[Option ID=38186]
3[Option ID=38187]
4[Option ID=38188]

Sl. No.23
QBID:18201023




313000 were divided among certain number of persons equally. Had there been 15 more persons, each person would have
got 60 less. Find the initial number of persons?

1.55
2.60
3.45
4. 50

1) 1
(2) 2
3) 3
(4) 4

13000 TUU B YR DI $F Aidadl H STER-aRI6R &1 U diel T 3R 15 AR S Afdd gid d 38 U Udd Afdd Bl
60 $UY BH fHeid | SRS U H ¢FRIRT U S dicl odfdadl &1 Tl Jid diferg ?

1.55
2.60
3.45
4.50

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38189] Question Description : dwbv_pg_gp18_eng_2_q23
2[Option ID=38190]

3[Option ID=38191]
4[Option ID=38192]

Sl. No.24
QBID:18201024

In a certain Coding language:-

‘Ot fao sa ty” means 'Hot food is tasty’

‘ty fao sa dige’ means ‘Tasty food is good’
‘tubo sa digo” means ‘Mushroom is good’

Which of the following means ‘Hot" and ‘Mushroom’, respectively, in that language?

1. ‘tubo” & 'ty
2.ra" & 'sa’

3. ‘ot’ & tubo’
4. fao” &'ty

(1)1
(2) 2
(3) 3
(4) 4




ol (fgd ey d
e wrai gy @l TH YT WiRp ey
T3 W1 W1 5 &1 o AIey HieH B eia el
&l b1 [ST 31 HREH ST gl |
FrafaRed # © fegar o T AR HREH 72

1. gal 3R T’

2.0 SR =’

3.3l SR Tar
4. B3l 3R 27

1)
(2)
(3)
(4)

A W N =

1[Option ID=38193] Question Description : dwbv_pg_gp18_eng_2_q24
2[Option ID=38194]
3[Option ID=38195]
4[Option ID=38196]

Sl. No.25
QBID:18201025

What number should replace question mark (?) in the series given below :
5,9,15,23 33,7

1.43
2.45
3.56
4. 66

(1) 1
(2) 2
(3) 3
(4) 4

i 1 T e | UsE e o @ ®IH R SF-9 98 HF aige?
5,9, 15, 23,33, 7

1.43
2.45
3.56
4. 66

1)
(2)
(3)
(4)

A W N R

1[Option ID=38197] Question Description : dwbv_pg_gp18_eng_2_q25
2[Option ID=38198]
3[Option ID=38199]
4[Option ID=38200]

Sl. No.26
QBID:18201026




Which fallacy is committed in the following argument?

“Grades awarded to a student are not truly reflective of the subtle nuances of the student’s performance. Therefore,
students work should not be graded at all.”

1. Equivocation

2. Slippery slope

3. Hasty generalisation
4. Begging the question

(1) 1
(2) 2
(3) 3
(4) 4

Frofafad gfdd & @-91 adew 82

“forddl faemdl &1 Us ¢ | faemdl & uesi= gat ge srdve arafas wu o wiafdfda 78 8id € 13t faenfial & o o1 Us
EEIERIEEIEIEYS

1. 9GS d (SHDUD)
2. ThycH gad gaH
3. gl GHERIEH
4. AT Y

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38201] Question Description : dwbv_pg_gp18_eng_2_q26
2[Option ID=38202]

3[Option ID=38203]
4[Option ID=38204]

Sl. No.27
QBID:18201027

Which of the following statements are logically equivalent?
A. No tigers are non-mammals.

B. No mammals are tigers.

C. All non-mammals are non-tigers.

D. All tigers are mammals.

Choose the correct answer from the options given below:

1.A Cand D only
2. A and B only
3.A, Band Conly
4.B and C only

(1)1
(2) 2
(3) 3
(4) 4




Fufeiad o 9 @H-4 %uH dlibe ©U 4 G0 82
A, Bzl 919 TR-FA9R T8 8
8. ®1% W T 919 T8l 6
c. Gt TR-Tur, TR-a9 2
D. G 9" WHaE B
o fEu U fadheal 3 9 98 W g -
1.®ad A, C3IRD
2. Bad A 3R B
3. ®WAAA, B AR C
4. HaAB 3R C

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38205] Question Description : dwbv_pg_gp18_eng_2_q27
2[Option ID=38206]

3[Option ID=38207]
4[Option ID=38208]

Sl. No.28
QBID:18201028

If the statement “All tigers are mammals’, is given as true, which of the following statements could be immediately inferred
to be false?

A. Some tigers are not mammals.

B. Some tigers are mammals.

C. No tigers are mammals.

D. Some mammals are tigers.

Choose the correct answer from the options given below:

1. A and D only
2. A BandD only
3. A and Conly
4.B and D only

1) 1
(2) 2
(3) 3
(4) 4




ofe Hy= gt 919 WU &, 1 99 & ©u 1 o T gl 9 Fefafed ¥ 4 oF 4 oyF d@te U d 3ad gH & 9 |
HFHIA Tt &I 9 &7

A. TS S WU T8 €1

B. $@ 919 WU g

c. @i i 919 Turf T8l g |

D. HS WUl 919 &

e T e H A WS I -
1.®dd A 3R D
2.Hadd A, B 3R D

3. HAAA AR C
4.%dd B 3R D

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38209] Question Description : dwbv_pg_gp18_eng_2_q28
2[Option ID=38210]

3[Option ID=38211]
4[Option ID=38212]

Sl. No.29
QBID:18201029

Which of the following statements are so related that they both cannot be false, although they may both be true?
A, All animals are birds.

B. Some animals are birds.

C. No animals are birds.

D. Seme animals are not birds.

Choose the correct answer from the options given below:

1. A and Conly
2.Aand B only
3.Cand D only
4.B and D only

1) 1
(2) 2
(3) 3
(4) 4




fFefaRed @ 7 9 ©F 38 UeR 4 Y6id § fé d G o/ d -181 6l 9ad o, Jdfd d GHI 9 51 9a@d o
A. Tt FaR Uaf g B
B. T AR U & &
C. ®1g it TR ueft 7l g1 €1
D. S JHdR Ueh el 8id &
Tt Asai A d g I
1. HadA IR C
2.dac A 3R B

3. WA C AR D
4.%ad B 3R D

1) 1
(2) 2

3) 3

(4) 4

1[Option ID=38213] Question Description : dwbv_pg_gp18_eng_2_q29
2[Option ID=38214]

3[Option ID=38215]
4[Option ID=38216]

Sl. No.30
QBID:18201030

According to Nyaya (Classical Indian School of logic) which of the following argument involves the fallacy of Viruddha?

1. The hill has smoke because it has fire.
2. Sound is eternal because it is produced.
3. The hill has fire because it is knowable.
4. Sound is eternal because it is audible.

(1) 1
(2) 2
(3) 3
(4) 4

R YR AR Y dh=IRa-Hd) & SaR HafeRad few gidd ¥ fawg aban Figd 82

1. 74 | Y3 & P YW A 31
2. @1 2T & 1T I8 Iad Sl B
3. Udd W I § Hifds T8 30
4. 7 % & FITD 98 YA 5

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38217] Question Description : dwbv_pg_gp18_eng_2_q30
2[Option ID=38218]

3[Option ID=38219]
4[Option ID=38220]

Sl. No.31
QBID:18201031




Consider the following MS-EXCEL spreadsheet :

A B C D E
1|Day Weather|Temp  |Play Tennis?|Go Running?
2|Monday  |Sunny |High

[¥¥]

Tuesday Windy |[High

e

Wednesday|Raining |Medium

Ln

Thursday |Sunny |Low

(=)

Friday Sunny  [Medium

Suppose the formula — IF (B2<= " Raining”, IF(C2="High","No","Yes"),"No") is entered into E2 and then the cell is copied and
pasted to E3:E6, On what days does Column E report "Yes"?

Note : (The symbol <> represents "NOT EQUAL TO").

1. Monday and Friday only

2. Monday and Tuesday

3. Thursday and Friday only

4. Monday, Thursday, and Friday

(1) 1

(2) 2

(3) 3

4) 4

Fgfeiad T tg-URid Sisgiic iR [daR sifew -
A B |C D E

HiES] HIH[arH = [ aged S
pleaitare o R )

IdEaR @<l e

Aguar R EHifsgE

5[gesdfaaRE (g

6[FFHaAR [T [HifsTH

AFATYA = IF (B2<> “ Raining”, IF(C2="High","No","Yes"),"No") I E2 H Uia¥ a1 S1a1 & 3R fth T &1 £3 : £6 H BHIUT
Fch U Y [eaT oidl | BIad £ & &A1 “ves ROl @i g?

-_-PIT:':[I%I%{> - Wﬁ%mm%}

1. Had GHAR AR EHAR

2. §iHaR 3R HaaR

3. Hdd ggeUldaR 3R YhaR
4. GHdR, JedaR 3R YehaR

1 1




(2) 2

3) 3

(4) 4

1[Option ID=38221] Question Description : dwbv_pg_gp18_eng_2_q31
2[Option ID=38222]

3[Option ID=38223]
4[Option ID=38224]

Sl. No.32
QBID:18201032

The website hosts videos that users can stream. The company uploads new videos to the website. The Videos are
compressed before they are uploaded to the website.

Which statement is a benefit of compressing the videos?

1. Data is encrypted.

2. Duration of each video will be reduced.

3. Less storage space on the web server is required.

4. More bandwidth is required when viewing the videos.

1) 1
(2) 2
3) 3
(4) 4

JeuEe R difsdl Iude g oo yai@alsi gRI Suai (Earem) fedr S1ar g1 S+l dedge | U difsdl & 3uals &al
81 d99I3e W Uals fbU oH & gd difsdl Haiftd &3 U 9Id 5

Fgifd - Hu= difsal & Yaiftd e oH &1 we av &2

1. i@ sl Mg g g

2. U@ difsal @1 3@fy &4 gl o |

3. 49 9k IR ®H YRV ®H & x4l el 6|

4. 59 9if30 @1 W @ B & @ e J3fay $f sraxsdal gl 8|

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38225] Question Description : dwbv_pg_gp18_eng_2_q32
2[Option ID=38226]

3[Option ID=38227]
4[Option ID=38228]

Sl. No.33
QBID:18201033




Identify the correct chronological order of the following Computers based their released date, from earliest to most recent.

A IBM 701

B. Altair 8800

C. Apple Macintesh
D. IBM 1620

E. Apple iMac

Choose the correct answer from the options given below:

1.C,EBAD
2.B,ADCE
3.C,B.DAE
4.4 D B CE

(1) 1
(2) 2
(3) 3
(4) 4

Fufdiad el @i 39d e (e [ & YR W, UkiFaH § AdiHa9 71 dd 9el dlalsd @l 9digu]
A. 313 &1 TH 701
B. 3T 8800
C. Twd Hfd=arar
D. HTS &l UH 1620
E. TUd 35 0
e fgu U fadenl § ¥ 9 I I :
1.CEBAD
2.B,ADCE

3.CB D AE
4.4 DB CE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38229] Question Description : dwbv_pg_gp18_eng_2_q33
2[Option ID=38230]

3[Option ID=38231]
4[Option ID=38232]

Sl. No.34
QBID:18201034




Given below are two statements:
Statement I: An Intranet is a private network accessible only to an organisation’s staff.
Statement II: The Internet is one super Computer.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1) 1
(2) 2
3) 3
(4) 4

A e RUILE:
TYA - | : SCHE UD ol Hedm © ol [l G164 ® DHANdl & 04 &l AR il 6l
HU - 11 : 3TTIE Th YR DGR B |
IWE DUl & e F Fafaied feeedl § 9 98l s g -
1. ®YF | 3R 11 EF 98T 8
2. BYA 1 3R 11 G Ted & |

3. %Y 19 g, [ ey 1 7Tad & |
4. @Y A T, TEg @ 1 W B

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38233] Question Description : dwbv_pg_gp18_eng_2_q34
2[Option ID=38234]

3[Option ID=38235]
4[Option ID=38236]

Sl. No.35
QBID:18201035

Anita is buying a new computer that has an LED display. Which of the following statements about LED displays are True?
A. Itis a flat panel display.

B. It creates images using red, green and blue diodes.

C. It is not very energy efficient and gives off heat.

D. It can be used in mobile devices such as smart phones and tablets.

E. It is a front-lit display.

Choose the correct answer from the options given below:

1.A B and D only
2.Cand E only
3.B, D and E only
4.D and E only




1) 1
(2) 2
(3) 3
(4) 4

HAIT TP 791 LR WG W6l & (o0 Ud 5 of foea (Wed T 6| Tas e lovd (WaX) & g § HRfiad »H-4 $Y9 94
87

A U8 TP 9UIE U9 f5Ed B
B. U8 A1, B, 3R =d 11 31 SIS &1 W4 & a4 (om) Fffd sxar gl
C. T8 e I+il-gel el € AR ST Sl g
D. 34 HIEISd UGV (Gfdadl) ol W W IH SR dacie H YIRT fdsar o gadl g
E. T8 U 3-SidH (he-fire) fEeat 31
i< feu 7Tu fadedl 5 9 98l IR 9 -

1. ®ad A, B3R D

2.%ad C 3R E

3. %dd B, D AN E
4.%ad D AR E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38237] Question Description : dwbv_pg_gp18_eng_2_q35
2[Option ID=38238]

3[Option ID=38239]
4[Option ID=38240]

Sl. No.36
QBID:18201036

Photo-electro-chemical decomposition of water is done to

1. To produce hydrogen

2. To remove pathogens from water

3. To remove metals from water

4. To remove oil and grease from water

(1) 1
) 2
3) 3
4) 4

od BT ThTY-f4ggd-Ieafe HuHe by & R e g7

1. 8IS S 304 @ od

2. 51d § IO B ge 2
3. 9d 9 uigai &1 geH &g

4. 99 ¥ o9 td ¥19 @l geH &g

1) 1
) 2
(3) 3
(4) 4




1[Option ID=38241] Question Description : dwbv_pg_gp18_eng_2_q36
2[Option ID=38242]
3[Option ID=38243]
4[Option ID=38244]

Sl. No.37
QBID:18201037

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Carbon monoxide (CO) has direct green house effect.

Reason (R) : Carbon monoxide in atmosphere can form carbon dioxide (CO3) and can also affect the concentration of
methane (CHa)

In light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4. (A) is false but (R) is true.

1)1
(2) 2
(3) 3
(4) 4

T Y RUTUE : U @l SHHSHYH (A) SR g8 DI dd (R) Bel 8|

HYHYA (4) : PTET GHGEES(CO) BT T T SSG TUE BT 8

T (R) : Ple HHIEISS dGHST H Bl STe IS (COL)T Tl & HR HEH (CH,)®T Figdl I 1 THIfad H Taoel 2|
SUddd YAl & HTdld | FHifdd [dbedl # 4 Wel 9k 9 -

1. (A) 3R (R) SF 91 € 3R (R), () P! TEl ARAT B |
2.(A) 3R (R aﬁm@%uﬁ )aﬂuﬁwqﬁ%|
3. (A) W B U R}ﬂﬁﬁ%’l
4. (A) WEI 61 8 13 (R) WEI &
1) 1
) 2
3) 3
(4) 4

1[Option ID=38245] Question Description : dwbv_pg_gp18_eng_2_q37
2[Option ID=38246]
3[Option ID=38247]
4[Option ID=38248]

Sl. No.38
QBID:18201038

Which of the following chemicals replaced chlorofluorocarbons (CFCs) after their phase out due to Montreal Protocol?

1. Perflucrocarbons (PFCs)

2. Hydrochlorofluorocarbons (HCFCs)
3. Sulphur hexafluoride (SFg)

4. Halons

(1)1
(2) 2
3) 3
(4) 4




Hii-gd Uieidld & @RU ARl Wkl Bla- @l geH & 416 Hyidrad 5 U fbd U - 34a] Uiawiud faar ur

1. NUGARI @9 (41, 1%, )

2. 531 TR TR $E-Y (Ud. 9. U, €)
3. U7 o WIRES (U9, UH6)

4. 509

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38249] Question Description : dwbv_pg_gp18_eng_2_q38
2[Option ID=38250]

3[Option ID=38251]
4[Option ID=38252]

Sl. No.39
QBID:18201039

Given below are two statements:

Statement I: Millennium Development Goals (MDGs) were established during millennium summit of the United Nations in
the year 2000.

Statement |I: Sustainable Development Goals (SDGs) were adopted in the year 2015.
In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

OR!
(2) 2
3) 3
(4) 4

EIERERCICTEE S

B - | 99 2000 H Yo AP & Hedlea! RRER TG & R Fedls! [GebTy Tl WIfud fdy g 4
FYA - | : GURUg o™ d&g (U9, 21 1) a4 2015 H 30" T U1

Iuad B! & Scild H Fafied ol 4 8 981 Sw g -

1. @Y | 3R 11 gHI T €
2. @Y | AR 11 G TEd & |
3.5Y 1 9 B, [P S 1 TEd & |
4. T HEA R, g oy 0 T8 B

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38253] Question Description : dwbv_pg_gp18_eng_2_q39
2[Option ID=38254]

3[Option ID=38255]
4[Option ID=38256]

Sl. No.40
QBID:18201040




Which sector contributes maximum to the India’s total electricity production.

1. Nuclear

2. Thermal

3. Renewable
4. Hydro

1) 1
(2) 2
3) 3
(4) 4

Fofefad § § ST &7 YRd & $d [96gd Idie § Sfiddd TieH dl 87

1. IRANUGEH
2. ddig
3. AdieRuig
4. 9ig

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38257] Question Description : dwbv_pg_gp18_eng_2_q40
2[Option ID=38258]

3[Option ID=38259]
4[Option ID=38260]

Sl. No.41
QBID:18201041

Given below are two statements:

Statement I: NCERT is the main governing body at the tertiary level of Education in India.

Statement |I: Tertiary education includes both higher education and Vocational education & training in India.
In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

(1) 1
(2) 2
(3) 3
(4) 4




AR sy kT E:

DU - | T U1 3 AR UG H e & gdiae SRy 2 e gl

HY - 1| : YRa B g e & S SiR saaanias fRiaT aut uiie gFt 2 |
SUge Pyl B e H FEiaRad Geed 9 98 I g -

1. @Y | AR 11 GHI T &
2. @Y | AR 1 G TTEd & |
3.5Y 1 9 3, [ HYH 11 TEd & |
4. T A T, g oy 0 T8 2

1)
(2)
(3)
(4)

A W N R

1[Option ID=38261] Question Description : dwbv_pg_gp18_eng_2_q41
2[Option ID=38262]
3[Option ID=38263]
4[Option ID=38264]

Sl. No.42
QBID:18201042

What is the full form of ‘'STRIDE'?

1. Scheme for Technical Review of Institutions’ Direct Establishment

2. Scheme for Trans-disciplinary Research for India's Developing Economy

3. Sensitization for Trans-disciplinary Research for Information and Digital Education

4. Schoal for Technological Research for Institutions Development and Entrepreneurship

1)
(2)
(3)
(4)

A W N R

EES (THET 3R 35 51'35) B Y0 &Y A&7

1. TP BIR caHidd Kog HIh SRICIY SHae TelaaRm=
2. BHBR Y-SR Rd Bk 3fea Saaft soHME
3. YuiergoH B 2y el fad ik g-BHeH Us f3foed uedaH

4. 9pd B JEHIdoed d B 3 e8Iy SaauH=< US U=eU-REY

(1)
(2)
(3)
(4)

A W N R

1[Option ID=38265] Question Description : dwbv_pg_gp18_eng_2_q42
2[Option ID=38266]
3[Option ID=38267]
4[Option ID=38268]

Sl. No.43
QBID:18201043




According to NEP 2020, All Higher Education Institutions (HEIs) shall aim to become multidisciplinary institutions and shall
aim to have larger student enrolments by the year.

1. 2040
2. 2035
3. 2025
4. 2045

1)
(2)
(3)
(4)

A W N R

T S U1 2020 & HUR T I &1 TMFT (T 3 3H12) DI dgiaudd g1+ au1 AHS1d 9l & gsiiso &1 14 feg a4
qP U ST oh?

1.2040
2.2035
3. 2025
4.2045

1)
(2)
(3)
(4)

A W N R

1[Option ID=38269] Question Description : dwbv_pg_gp18_eng_2_q43
2[Option ID=38270]
3[Option ID=38271]
4[Option ID=38272]

Sl. No.44
QBID:18201044

Given below are two statements:

Statement I: In 1917 Engineering classes were started in the Hindu University, Banaras.

Statement II: In 1917, Engineering colleges were established at Patna, Lahore and Karachi.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement 1l is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1)
(2)
(3)
(4)

A W N =




BERAGE AR
@Y - | TIRY fog fayTaenem & 9y 1917 & SiaiaT &1 BaTd 3Ry g3 4
HYA - 11 : T4 1917 B TeHl, TER 3R B! H Solll-41T dIeiell @1 ST g5 41|
Iuge Pyl & e H HgfaRad Geedl § 9 98 3o g -

1. % 1 3R 1| GH 91 B

2. @Y1 SR 1 SF A B

3.9 190 8, g @y 1 TTad g |

4. T 3T R, fog & 0 T8 B

1)
(2)
(3)
(4)

A W N R

1[Option ID=38273] Question Description : dwbv_pg_gp18_eng_2_q44
2[Option ID=38274]
3[Option ID=38275]
4[Option ID=38276]

Sl. No.45
QBID:18201045

Given below are two statements:

Statement I: In ancient India only informal system of education was in existence.

Statement II: In ancient India the Indigenous education was imparted at home, in temples, pathshalas and gurukulas.
In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1)
(2)
(3)
(4)

A W N R

EIEFCRE AR
HY - | - W HRA H &1 31 haa SHIERS Tsid g 4l
HY - 11 : UIEiH HRd H WS 8 R W, #ie, ursandrsi R ol d ueH @1 it 4|
Iudad HYHl B 3rrciie | Fftiad Gl J 9 58l W g -
1. ®YF | 3R 11 EH 981 8
2. %Y1 3R 1l GFI TR B

3. %Y 19 g, [ ey 1 7Tad & |
4. @ 3T T, TEg @ 1 W B

1)
(2)
(3)
(4)

A W N R

1[Option ID=38277] Question Description : dwbv_pg_gp18_eng_2_q45




2[Option ID=38278]
3[Option ID=38279]
4[Option ID=38280]

Sl. No.46
QBID:18201046

Read the passage and answer the questions that follow

With the decline of the Roman Empire, China had become a main focus of trade in the Indian Ocean. The Chinese consumed
enormous quantities of spices which were imported from South-East Asia and India. They also imported ivory the best of
which came from Africa, and glassware which came from West Asia. To these were added medicinal herbs, lac, incense, and
all types of rare things. Generally products from Africa and West Asia did not go beyond the Malabar in South India. Nor did
Chinese ships go beyond the Moluccas in South-East Asia. Thus, both India and South-East Asia were important staging
centres for trade between China and the countries of West Asia and Africa. Indian traders- especially the Tamil and Kalinga
(from modern Orissa and Bengal)- played an active role in this trade, along with Persians, and later the Arabs. Much of the
trade to China was carried in Indian ships, the teak-wood of Malabar, Bengal and Burma providing the base of a strong
tradition of ship building. The weather conditions were also such that it was not possible for a ship to sail straight from the
Middle-East to China. The ships would have to wait for a long period in ports in between for favorable winds which blow
from the west to the east before the monsoon and from east to west after the monsoon.

ufvsse 1 UfeT SR IUF a16 o aTat well F I giferg

9 WH & U & &g 9l feg HelbFR 3 @R &1 U9d g & 141 41| 919 & aFl sga U 591 $1 3ugr $d ¥ 3R
ST@T AT SI&0T d URET auT YR 9 f&ar sirar o1 3 et gid &1 off s od € e 59 ui swie ¥ au B B
oA ufEm TRET U ord ¥ smafad el § S Sdt-gfedt, e, dem au @i eRr @1 ga age s 1 I
HIBIbT U1 UTHH TR & Il alalll HRd H HIddR 9 SR gl Hel Sid ¥ SR A €1 94 & Uld clér-ud e H Aiddsyd
HFT @Td U1 30 UHR HRA 3R GI&01-Ud U1 gH1 9 9T UiEs Ui d Swisl & o1 & §id AuR &34 & Agayy &g U
Y™ el GRmee affa aur efan @y IS Ul e §) & Al 3 38 & il R daal 3RE &
AR & I R & 9 yfie Furd) 99 @ e R YR gidl 9 g o1, I1deR ad ayl 991 § 9REHE &
Ttedt gid i, fored Uia-Faio @1 Aeed Wl & AR 31 H40 gl 39 999 9199 &1 f[ufd o f & et gid s
Tegd O 1Y 919 Tl JgdT o 9dbdl Y11 Uid! @I Hi-97 9 Usd U 4 UId $f 3R a1 arel aul A9 & 916 98T J O3d $f
HR dg-areil 3P gal & 1Y §& el H e YA q SR &A1 USdl 4|

The woed for the Indian ship building industry came mainly from
A. Middle-East

B. Burma

C. West-Asia

D. Bengal

E. Malabar

Choose the correct answer from the options given below:

1. A B and C only
2.B,Cand D only
3.B, D and E only
4.C, D and E only

1) 1
(2) 2
(3) 3
(4) 4




YR gid Fafor 3 & iU ae syl qiead: del U ol o 2
A HE-Ud
B. §H1
C. UiEg-uiRm
D. ST
E. AR
i feu 7 fadhedi H U Ugl IR 94 -
1.®WaAA, B AR C
2. %ad B, C 3R D
3. %dd B, D ANE
4. %A C, D ARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38281] Question Description : dwbv_pg_gp18_eng_2_q46
2[Option ID=38282]

3[Option ID=38283]
4[Option ID=38284]

Sl. No.47
QBID:18201047




Read the passage and answer the questions that follow

With the decline of the Roman Empire, China had become a main focus of trade in the Indian Ocean. The Chinese consumed
enormous quantities of spices which were imported from South-East Asia and India. They also imported ivory the best of
which came from Africa, and glassware which came from West Asia. To these were added medicinal herbs, lac, incense, and
all types of rare things. Generally products from Africa and West Asia did not go beyond the Malabar in South India. Nor did
Chinese ships go beyond the Moluccas in South-East Asia. Thus, both India and South-East Asia were important staging
centres for trade between China and the countries of West Asia and Africa. Indian traders- especially the Tamil and Kalinga
{from modern Orissa and Bengal)- played an active role in this trade, along with Persians, and later the Arabs. Much of the
trade to China was carried in Indian ships, the teak-wood of Malabar, Bengal and Burma providing the base of a strong
tradition of ship building. The weather conditions were also such that it was not possible for a ship to sail straight from the
Middle-East to China. The ships would have to wait for a long period in ports in between for favorable winds which blow
from the west to the east before the monsoon and from east to west after the monsoon.

ufvsse 1 UfeT oY IuF a1E o aTal el F I ity

RIHH GHSE & U= & alG 91 o6 HelFR H AR ®1 WHE dg & T 411 94 & Rl ggd SHidd Jdld o 3Udi 3d ¥ &R
SYGI S GIAVT Ud UIRET 9T YR § faar <irdr o1l d 81l i &1 Hi 3Td &d o fSH®1 399 HFT oibisl § aYl id &
oA UfEm TRET U a1 smafad el § s Sdt-gfed, aan, dem au @i teRr @1 ga age sk 1 I
HTBIRT qyT Ui Ui & Jdrg Sfamn YR ® HaaR ¥ HF T8 O 91d 9 3R A 8 FH & Uid cférr-ud oftrn F Aiaesy 9
HFT @ U1 30 UHR HRA 3R GI&01-Yd U1 gHi 9 9T UiEs Ui Ud Spisl & 211 & did AuR &3 & Agayy &g 4
YRdE el Rmee ot aur afa @nyFe IS aul e ) & Al 3 38 & il R daal 9RE &
AR & I AR § 9 yfie ) 99 @ s R YR gidl 9 g o1, 91dER @d ayl 991 § 9REHE &
aoisal gidl off, forad Uia-Fao &1 goieg WO & YR &1 A0 g3 39 990 519y & fufa T ff 5 54 ve did gra
Tegd 9 OiY 919 Ta1 dgdT o 9odl YTl Uid! @I Ji97 9 Usd UEH 4 UXd $f 3R 98- areil aul A9 & a6 98T J O3 ®1
HR FEaTel 3D gdl & [T d6el H dd I 0@ SauiR S Ul ol

The best ivory products came from

1. India

2. Africa

3. Persia

4. South-East Asia

(1)1
(2) 2
(3) 3
(4) 4

g1t Sid & 399 SdIG del T 31d U7

1. URd

2. 3pidl

3. 33H

4. Gléor-gd wiRm

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38285] Question Description : dwbv_pg_gp18_eng_2_q47
2[Option ID=38286]

3[Option ID=38287]
4[Option ID=38288]




Sl. No.48
QBID:18201048

Read the passage and answer the questions that follow

With the decline of the Roman Empire, China had become a main focus of trade in the Indian Ocean. The Chinese consumed
enormous quantities of spices which were imported from South-East Asia and India. They also imported ivory the best of
which came from Africa, and glassware which came from West Asia. To these were added medicinal herbs, lac, incense, and
all types of rare things. Generally products from Africa and West Asia did not go beyond the Malabar in South India. Nor did
Chinese ships go beyond the Moluccas in South-East Asia. Thus, both India and South-East Asia were important staging
centres for trade between China and the countries of West Asia and Africa. Indian traders- especially the Tamil and Kalinga
(from modern Orissa and Bengal)- played an active role in this trade, along with Persians, and later the Arabs. Much of the
trade to China was carried in Indian ships, the teak-wood of Malabar, Bengal and Burma providing the base of a strong
tradition of ship building. The weather conditions were also such that it was not possible for a ship to sail straight from the
Middle-East to China. The ships would have to wait for a long period in ports in between for favorable winds which blow
from the west to the east before the monsoon and from east to west after the monsoon.

ufv=Se 1 UfeT ok IHF a18 o a1at wel F I gifrg

RIHH GHE & U= & alG 91 66 HelFR H AR ®1 W dbg & T-1 411 94 & Rl ggd SHidd Jdld & JUdil 3d ¥ &R
SHS] S GIA0T Ud UfRMET 93T YR | a1 <1 o1l d el i &1 Hf 31T $d o SH@1 399 HFT obidl § aYl &id &
oA UfEm TRET U a1 smafad el § s Sdt-gfed, aan, dem au @i teRr @1 ga age sk 1 I
HTBIRT qyT Ui Ui & Jdrg Sfamn YR ® HaaR ¥ HF T8 O 91d 9 3R A 8 FH & Uid cférr-ud oftrn F Aiaesy 9
HFT @ U1 30 UHR HRA 3R GI&01-Yd U1 gHi 9 9T UiEs Ui Ud Spisl & 211 & did AuR &3 & Agayy &g 4
YRdE el Rmee ot aur afa @nyFe IS aul e ) & Al 3 38 & il R daal 9RE &
AIRA & 9 AR H Wicey YfHaT Rl 99 & SiUsie suR YR uidl | gidr o1, AiddR §d 941 9691 § 9RaH $I
aoisal gidl off, forad Uia-Fao &1 goieg WO & YR &1 A0 g3 39 990 519y & fufa T ff 5 54 ve did gra
Tegd 9 O1Y 919 Ta1 dgdT o 9obdl YTl Uid! @I Ji-97 9 Usd UEH 4 UXd ®f 3R 98- arel aul 349 & a6 98T J O3 ®1
HR FEaTel 3D gdl & (AU §6Tel § dd Y 0@ SawiR ST Ul ol

Given below are two statements:

Statement I: Chinese ships travelled all the way from China to the Middle-East and West Asia.
Statement |I: Chinese ships came to Malabar coast for trade.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

1) 1
(2) 2
3) 3
(4) 4




EIERALAE N AR N f
@A - | 1 Ui 919 9 Hgd qT Ui uiEE s ad Ul
HY - 11 : il Uid TR & [T ATER ¢ TR 3M7d 4|
SUge Pyl B e H FEiaRad Geed 9 98 I g -
1. @Y | 3R 1 ST T &)
2. @Y1 AR I GHI A B

3. @19, P @ I TTEa B |
4. Y| A B, g IYF 1 98T B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=38289] Question Description : dwbv_pg_gp18_eng_2_q48
2[Option ID=38290]

3[Option ID=38291]
4[Option ID=38292]

Sl. No.49
QBID:18201049

Read the passage and answer the questions that follow

With the decline of the Roman Empire, China had become a main focus of trade in the Indian Ocean. The Chinese consumed
enormous quantities of spices which were imported from South-East Asia and India. They also imported ivory the best of
which came from Africa, and glassware which came from West Asia. To these were added medicinal herbs, lac, incense, and
all types of rare things. Generally products from Africa and West Asia did not go beyond the Malabar in South India. Nor did
Chinese ships go beyond the Moluccas in South-East Asia. Thus, both India and South-East Asia were important staging
centres for trade between China and the countries of West Asia and Africa. Indian traders- especially the Tamil and Kalinga
(from modern Orissa and Bengal)- played an active role in this trade, along with Persians, and later the Arabs. Much of the
trade to China was carried in Indian ships, the teak-wood of Malabar, Bengal and Burma providing the base of a strong
tradition of ship building. The weather conditions were also such that it was not possible for a ship to sail straight from the
Middle-East to China. The ships would have to wait for a long period in ports in between for favorable winds which blow
from the west to the east before the monsoon and from east to west after the monsoon.

ufYesg &1 ufen ofi IuF a1g o= ara Ui & I9¢ i

RIHH FHSE & Ud- & alG 91 66 HeNIFR H IR ® W dg & T 411 94 & il sgd SHidd A4l & Uil 3d ¥ &R
SHSI S GIA0T Ud UfRMET 93T YR | far <rar o1l d el gid &1 Hf 3T $d o 91 399 HFT obidl § aYl Bid &
oA UfEm TRET 9 ord ¥ smafad Sl § s Sdt-gfedi, aan, deE aul 94 UeR @1 gaH awge st o1 IE:
HTBIT 9T UTHT TR & ST Gfa YR H AeaR U SR el Ul 9 ¥ SR 7 g 9 & Uid fé-gd ol | adesy
HFT @Td U1 30 UHR HRA 3R EI&01-d U1 gHi 9 9T Ui Ui Ud Spisl & o3l & did AuR &3 & Agayy &g 4
YRAE sl GRme affd auT efa @nyEe IS Ul e §) & ARGl 3 38 & gl R da<l 3RE &
AIRA & 9 AR H Wishy YfHaT ARl 99 & SiUsie suR YR uidl | gidr o1, HiddR §d 941 9691 § 9RaH $i
aisal gl off, forad ua-Faor &1 goieg WO & YR &1 a0 g 39 990 O1ay & fufa U o e i ve did g
HeOud | 1Y 919 981 ggdT o 9obdl Y11 Uid! @I Hi-gT § Usd UEH ¥ UXd ®f 3R 98- arell aul A9 & 916 98T § O3 $1
HR FgaTe 33 gdl & (U §eUel B dd U9 d@ a9k S Usal ol




Given below are two statements:

Statement |: Indian traders played an important role in China’s trade with West Asia and Africa.
Statement |I: Before the monsoons, favorable winds blow from east to west.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1) 1
) 2
3) 3
4) 4

EIERAAIE A
DY - | : YRd & ARG - UHH-TRET 997 S{BieT & 1Y FH & GuR § Aeaygnl YiFeT Ay
@Y - 1| : A & Ygd HIPd gald Wd U UlEH & R ggdl ¢
Iudad Bl B 3o | Faftiad el J 9 58l W g -
1. Y | 3R 11 &FT T8
2. BYA 1 3R 11 GFI T g |

3.9 19 e, g @y 17dad g |
4. @Y HEA §, fog duH 11 el 21

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=38293] Question Description : dwbv_pg_gp18_eng_2_q49
2[Option ID=38294]

3[Option ID=38295]
4[Option ID=38296]

Sl. No.50
QBID:18201050




Read the passage and answer the questions that follow

With the decline of the Roman Empire, China had become a main focus of trade in the Indian Ocean. The Chinese consumed
enormous quantities of spices which were imported from South-East Asia and India. They also imported ivory the best of
which came from Africa, and glassware which came from West Asia. To these were added medicinal herbs, lac, incense, and
all types of rare things. Generally products from Africa and West Asia did not go beyond the Malabar in South India. Nor did
Chinese ships go beyond the Moluccas in South-East Asia. Thus, both India and South-East Asia were important staging
centres for trade between China and the countries of West Asia and Africa. Indian traders- especially the Tamil and Kalinga
{from modern Orissa and Bengal)- played an active role in this trade, along with Persians, and later the Arabs. Much of the
trade to China was carried in Indian ships, the teak-wood of Malabar, Bengal and Burma providing the base of a strong
tradition of ship building. The weather conditions were also such that it was not possible for a ship to sail straight from the
Middle-East to China. The ships would have to wait for a long period in ports in between for favorable winds which blow
from the west to the east before the monsoon and from east to west after the monsoon.

ufvsse 1 UfeT oY IuF a1E o aTal el F I ity

RIHH GHSE & U= & alG 91 o6 HelFR H AR ®1 WHE dg & T 411 94 & Rl ggd SHidd Jdld o 3Udi 3d ¥ &R
SYGI S GIAVT Ud UIRET 9T YR § faar <irdr o1l d 81l i &1 Hi 3Td &d o fSH®1 399 HFT oibisl § aYl id &
oA UfEm TRET U a1 smafad el § s Sdt-gfed, aan, dem au @i teRr @1 ga age sk 1 I
HTBIRT qyT Ui Ui & Jdrg Sfamn YR ® HaaR ¥ HF T8 O 91d 9 3R A 8 FH & Uid cférr-ud oftrn F Aiaesy 9
HFT @ U1 30 UHR HRA 3R GI&01-Yd U1 gHi 9 9T UiEs Ui Ud Spisl & 211 & did AuR &3 & Agayy &g 4
YRdE el Rmee ot aur afa @nyFe IS aul e ) & Al 3 38 & il R daal 9RE &
AR & I AR § 9 yfie ) 99 @ s R YR gidl 9 g o1, 91dER @d ayl 991 § 9REHE &
aoisal gidl off, forad Uia-Fao &1 goieg WO & YR &1 A0 g3 39 990 519y & fufa T ff 5 54 ve did gra
Tegd 9 OiY 919 Ta1 dgdT o 9odl YTl Uid! @I Ji97 9 Usd UEH 4 UXd $f 3R 98- areil aul A9 & a6 98T J O3 ®1
HR FEaTel 3D gdl & [T d6el H dd I 0@ SauiR S Ul ol

The Chinese imported spices mainly from

A, Africa

B. India

C. West-Asia

D. South-East Asia

Choose the correct answer from the options given below:

1. A and B only
2.B and C only
3.Cand D only
4.B and D only

(1) 1
(2) 2
(3) 3
(4) 4




i o TR HHIdl @ HAId Jeic: del § dd U?
A. HBIDT

B. YA

C. UiEH-ulRm

D. Gl&UT-gd iR

i< feu e faweal 5 9 981 IR 9 -

1. Had A AR B
. HAAB 3R C
. HAAC AR D
4.%dq B AR D

2
3

1) 1
(2) 2

3) 3

(4) 4

1[Option ID=38297] Question Description : dwbv_pg_gp18_eng_2_q50
2[Option ID=38298]

3[Option ID=38299]
4[Option ID=38300]

Paper II : 2-Political Science

Sl. No.1
QBID:2001

Rights are what we may expect from others, and others from us, who said it

. Hobhouse
. Laski
. Green

B

. Plato

1) 1
) 2
(3) 3
(4) 4

PR 78 & foFo! 50 gERl T auT gHe gAY U Bd &, U8 g Pl ol

1. 81983 g
2. TP
3. 99
4. el
(11
(2) 2
(3) 3
(4) 4

1[Option ID=38301] Question Description : dwbv_pg_pls_eng_2_q1
2[Option ID=38302]
3[Option ID=38303]
4[Option ID=38304]




